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DinaSg elenTésenn sflwurs sl udeurdl e erengr erenLiSenen
sfluntggs Careatareyd. sisxliudleler gaonlpulear sons
samaTeant ULmerflb 2 argwurs CsflelEsalb.

heuld g sEUL enwwlenar wl HEWL ergausHEl LULaU(Hs s
Couam(fd. UL BT euanTeugn @ GlueandFld LueamuBHSseb.

Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.

Use Black or Blue ink to write and pencil to draw diagrams.

@OIUY : RelcilanrssmaT mrsm@ Sfleysamard Camem g

Note : This question paper contains four sections.

Sifley~ I/ SECTION -1
(oALGLemaeT : 15) / (Marks : 15)

GOuy : () @uldfeld 2drer 15 allemseEps@n ellanl wellEsalLb. 15x1=15

(i) Ger@ésuul Hdrar mremG ellaLseald Weeyb sflumeaen
clenenwg Carpdshss ailUlBLear eflealmanyb Cersgl
TS5,

Note : (i)  Answer all the 15 questions.

(ii) Choose the correct answer from the given four alternatives and write the
option code and the corresponding answer,

1. f={63),69,

(5,3), (=1, 6)}, GTexlc> 3-677 (PG 2 (HESET :

(<) 5 womib —1 (<),) 6 LHOWD 8 (&) 8 whmpb -1 () 6 WwHmW 5

If f={(63),(89) 5, 3) (-1, 6)], then pre-images of 3 are :

(a) HSand -1

(b) 6and 8 (c) Band -1 (d) 6and 5
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2
i i . £ o i i n - 3

Ay 8 Ay...... ETENTLIEN (1 S-S GClerii euflensuller 2 drenar. Cuogib g
crenfled 13-cug o miiy

3 .
(s24) 5 (<4)0 (&) 122 () 1day

- a.i 3 Ath :
i OO T — are in A.P. such that —= = — then the 13" term of the AP, is ;
RS a7 2

5 .
(a) 5 by 0 () 12a, (d) 14a,
=l R erenm GlerLi auflenswimeng) :

(3] @@ &LE$ Qsrit auflens L @id

(<) e QuEpSES Csri eaflens LG

(@) o@ sl (s terLi aufleped e AuEEESE Gsrii suflemayd b
(m) @@ & Gs deri auflens wpmib QUGS Csrir euflas

The sequence —3, ~8, =3...,.. 15 ;

(a) an AP, only

(b) aGP. only

(c) neither A.P. nor GP.

(d) both AP. and G.P.

S wrilsald eder Cpflue endurGeaiar AsTELUL @HEsEm s g
eravTlad, Sieummlen euenTLL BIGET :
(21) genplen Bgy ey Hummpgb
(2] @ weatatiudle) Gleuligs Csmerientd
(@) erpsl wemafluflayb Qeuliws Asrerarna
(FF) x- 2Fens Geul (b
A system of two linear equations in two variables is inconsistent, if their graphs :
(a] coincide
(b) intersect only at a point
) do not intersect at any point
(d} cut the x-axis

(c

keN aanGurg ak, a**+3, ak+5 oy dwieupfler .Quim. o,

(1) akt+? (=) a* (E)) akee (/) ak+s
The LCM of a¥, ak*3, ak*5 where k e N, is : _ _
(a) ak'i“g (b} aé( fC) a[<+6 (d) ak_:J
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10.

3
@@ safilar awuflws 2x3 eaflld sdaefld edar e guysatar
CTERTENTIH605 |
(=) 5 (<) 6 (B) 2 (r) 3
If a matrix is of order 2 x 3, then the number of elements in the matrix is :
(a) 5 (b) 6 (€) 2 (dy 3

(2, —=7) erenip yeral aflé Cedeugld x - SIFEDEGE Q6D ILITETS LT 6

CriCariyer gwemimd) :

() x=2 () x=-7 (&) v=-7 () y=2

The equation of a straight line passing through the point (2, —=7) and parallel to x-axis
i

(a) x

n

Il

2 b) x=-=7 () y=-7 d) y=2

y=2x+k eranp CprGasn( (1, 2) eranp Ldarefieufls Hebdlanpg erenled k ~e
wHIL
(=) 0 ()4 (&) 5 (/) -3

If a straight line y=2x +k passes through the point (1, 2) then the value of k is equal
to '

@ 0 (b) 4 (c) 5 @ -3

QeiiGarem AABC -ulleb 2B =90° wHmb BD LAC. BD=8 Ge.il, AD=4 Gl&.8.,
ereuiley CD =

(<31) 24 Gl&.b. (=) 16 Qa.b. (@) 32 Gle.i8. (rr) 8 Ge.db.

AABC is a right angled triangle where «B=90° and BD LAC. lf BD=8 cm,
AD=4 ¢m, then CD is :
{a) 24 cm (b) 16 cm £} SZem (d} 8cm

Qrev® awgQearss wpelsranmsaflar uylumajss wapGu 16 Ge.6.2
36 de.5.? wesd wsbasravsdear gsmwurbd 3 a8 rafld woblomm
WpECasTamSEla) Jsamer Q55 SHHIMD

(«31) 6.5 Q.15 (=) 6 Gleb, (B) 4 Ga.b. (rr) 4.5 Q&b

The areas of two similar triangles are 16 em? and 32 cm? respectively. If the altitude of
the first triangle is 3 cm, then the corresponding altitude of other triangle is :
(a) 6.5 cm (b) 6 am {c) 4 am (d) 45 m
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11, (1—sin? f)sec? 8=

() 0 () 1 (@) tan 8 (FF) cos 9
(1—sin? B)sec? B=
fa) O (by 1 (c) tan? @ (d) cos?8
12. L gsld) ZABC =
C
,
1
= 1 \\\
100V3m,
fS
b
\_‘
e i
A
e
() 45° () 30° @) 60 (m) 50°
In the adjoining figure ZABC =
&
N
-
- P ‘\\\
1003 m By
| k!
| o
i_| r/\:
ATT00m P
(a) 45° (by 30° (€) 60° (d) 3507

13. @@ Cerargdlar yroreang wHEpr@ Cararggld Litdl erarley yeubbler seu
Seteusatlan efidgb
(=) 1:8 ()2:1 (@) 1:2 (/f) 8:1

If the radius of a sphere is half of the radius of another sphere, then their respective
volumes are in the ratio :

(a) 1:8 by 2:1 ey Tl (dy B:1
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14. 10,10, 10, 10, 10 -&n7 eflevss auisss syref :
(s21) 10 (<) V10 (@) 5 () O
The variance of 10, 10, 10, 10, 10 is :
@ 10 (b} 10 € 3 (d) 0
15. o eremugl e Quieor BsDES erarfled Pd) =
e e 7
(=1) 1 (<) 7 (&) 0 (") 3
If & is an impossible event, then P(¢) =
1 (b 2 ) 0 1 -
(a) ®) 7 (c) (@ 3
Mlfley - I / SECTION - II
(wéluGuemrser : 20) / (Marks : 20)
GOy : () usg elamssEnse eilenwaflésalb. 10x2=20
i) oflarm eram: 30-&@E &ewTgluUrs efleLwalsseild. WH®
11 canrssafd@mis gGsab 9 slamssamers Caial Welwaid.
Note : (i)  Answer 10 questions.
(i) Question number 30 is compulsory. Select any 9 questions from the first
14 questions.
16. P={a, b, d Q=g h x y} wOOL R=1a e f, s}. erafl® R\(PNQ) srews.
Let P=1la, b, ¢} Q={g h, x, y} and R={a, e f, 3. Find R\ Q).
17, Gar(ésiul(perer F={(1,3).(2,5),&7),(59), 3 1)} erayd grmihE wHLLsSD

wpnb eféFabd pduepons srars.

For the given function F = {(1,3),(2,5), (4 7) (5 9) G, 1)} write the domain and range.

[ Slgpliys / Turn over
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18. n-aug 2mly a, = _n(n%':l_)_

erand Qar@ssuul L Gerit auflesdler wao
BPETD) 2 MUILISENETE HITEs.
Write the first three terms of the sequence whose nt term is givenby a, = ————.

19. & : 3x—5y=-16, 2x+5y=31
Solve : 3x~—5y= —16, 2x+ 5y =31

20. 3+47,3 -7 ET@TD APVRIGET 2 LI G(HUIGEF FWETUTLEOL SEnDES6]D.
Form a quadratic equation whose roots are 3 + AT ST -
-.)T

8 5 2 e ol 5
21. A= 4], eraflen AT bombd (A SpFlueuhapne STas.

!

R 5 T
It A=[ ? 4J,then find AT and (AT) i

22. A (4, —6), B (3, —2) wpmib C(5, 2) g Suapmy 2 &flsaTres Clamam
p&Caramsdler pOECaTLH LWD STENs.
Find the centroid of the triangle whose vertices are A(4, ~6), B(3, —2) and C(5, 20

23. UL Gdlev y-ar wEHUMUE ST,



24,

I
9]}

26.

27.

(5inf 8 +cos® 8) =1—3sin2 @ cos? B erevp (POHEDTHED LWL BITieys.
Prove the identity (sin® 8+ cost 0)=1—3sin’ § cos2 8.

saufie srlsg emassiulL gaflurag soruer 60° GCaremsems
sHLRssEng. et iy saupllaimbg 35 5. girssled aemeng erefe,
galuler Bargmss srans.

A ladder leaning against a vertical wall, makes an angle of 60° with the ground. The
foot of the Jadder is 3.5 m away from the wall. Find the length of the ladder.

24 Q.8 2wpepelw g smblear Suglurliy 550 @182 eraflée Siger
HEMeTey Wrg?

A cone of height 24 cm has a curved surface area of 550 cm?. Find the volume of the
cone.

@ e (meer eulgen @mbYE Gyrlar Geualllyp el Lt 25 Qe b. ser

Cr"\]

fetd 20 Q5.8 LHOD sgwen 1 Q.8 raflld HSGpTUlen Worssu
LpUIUTUenUE &Tenrs.

The external diameter of a cylindrical shaped iron pipe is 25 cm and its length is 20 cm
If the thickness of the pipe is 1 cm find the total surface area of the pipe.

(pad 13 Qu arsaiar Sl elosssas sarssl(s.

Calculate the standard deviation of the first 13 natural numbers.

2 Qe.18, gpraperen aul L s 2 enGar 2 drer Ldraflsafled swambiy ¢parpuld
o Ueretlanw Gairey Qe @ig au’ Lims el eoUsgHE AGIL JNhss
Hlspsse aeran?

A point is chosen at random inside a circle of radius 2 cm. What is the probability that
this point is nearer to the centre than to the circumference ?
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h (3 2\(x) (8
30. (&) Biey srams {4 5 [H“ [13 :
3|60V
(<) 817l ABCD-Wletr udsd AB pearg r-HNEFHGL Genamurs o areng)
erafled pLpenay el b AC-uWllan #mlie] HTems.
3 2)[x° 8
(@) Solveforxandy:|, =l|, ] “ 113l
OR
(by  The side AB of a square ABCD is parallel to x-axis. Find the slope of the diagonal
.'.A.—Cl
Sifley - I1I / SECTION - III
(glCuamaer : 45) / (Marks : 45)
@Oy : () 9 edlenmésEnée allenwallése] . 9x5=45
(i) eSlemm erewr : 45-&@E sewTigUUNs alenwefEsald. PFOD
14 ehlanmasatiediphg gOsab 8 eflanréseners GCaiay GlFliwaD.
Note : (i)  Answer 9 questions. '
(ii)  Question number 45 is compulsory, Select any 8 questions from the first
14 guestions.
31. Gleusruimisearl Uweru®sd (A n B = A" u B eramuenss #Aum.
Use Venn diagrams to verify (A n B)'=A" U B".

32. A={0,1,23}wpmbB={(1,3,5 7, 9] eTeriier @) (% SHERTRIGET cTenS. f: A — B arengg b
gmiy flx)=2x+1 erand Qaer(hidslulfererg. G&srideen (1) euflamss
Gergsatler samwors, (i) 2l eumenurs, (i) ibyé GOlLULLrE hmb
(iv) euenruLLoTss @GHl&s.

Let A={0,1,2 3} and B={1,3,5,7, 9} be two sets, Let f: A — B be a tunction given by
f(x)=2x+1. Represent this function as (i) a set of ordered pairs (ii) a table (iii) an
arrow diagram and (iv) a graph.

33, @@ umsEes Ceret auflasdd 4-aug LOMID 7-augl 2-piiyser wenGu 54

wHmb 1458 ereMa, SSGEsTLT alfiensamus srers.

If the 4t and 7 terms of a G.P, are 54 and 1458 respectively, find the G.P,



34,

35.

36.

37.

38.

39;

40.

L
Qsr_fer s0ga e : 122+132+147+ ... +352,
Find the sum of the series 122+132+142+ ...... +352,

STrafLIL(SEE @ x> —23x2 +142x - 120,
Factorize : x° —23x2+142x—120.

om aurtbsTadlar Bath Sigar sisesms oL 3 . siFlsb. sipdar LruLaTel
pmd FHpeTasafldar eram WHILSET b arefle, surTpgmreller Berb wODIL
DiFQES T SETEEENETE SHTENTS.

The length of a v erandah is 3 m more than its breadth, The numerical value of its area
is equal to the numerical value of its perimeter. Find the length and breadth of the
verandah.

1 s
= (ﬁ_ ] cTarlled AZ—4A +51, =0 erar Blpie|s.

1 -1
If A= (ﬁ 3 } then show that A2—4A+5[2=0‘

(6, 9), (7, 4), (4, 2) LOPYL (3, 7) TATD (PMeTHE®ET 260U BrHsrsslear
UTLILIETENAIE &TETs.

Find the area of the quadrilateral whose vemtlces are (6, 9), (7, 4), (4, 2) and (3, 7).

AABC-Wan papanseT A (2, —4), B (3, 3) g C (-1, 5), erafled B -Wlellppg!
aerulLQD @s5sCsTLR eafFdsompb Crrlarl e swarur oLs
FHTEHTE.

Tf the vertices of a AABC are A(2, —4), B(3, 3) and C(—1, 5), find the equation of the
straight line along the altitude from the vertex B.

o wiGsramsda @ CGsramgder LU @Qmew Geulilgwreansg
9159(35rr”ﬁn‘58:15m ardlit LssHams 2 Luypors, &ECsTaSSemen 3L &dlw
Lsersaa aldlssda Wils@w - Hneys.

The internal bisector of an angle of a triangle divides the opposite side internally in the
ratio of the corresponding sides containing the angle - Prove.

5373
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41, @@ sLL o Cwéd o Qsrgs sbub Hodpg. soTdlgde R0
Larefl g el mpa Qemyssbusdean &8 LoD ?J_or S weupdier gHos
Caramiiger (penmGw 60° wpmib 45° erans. Ggid Q&g &E6bUSSEn 2Ly
10 8 erafléy sLLLSHam e Lpsanss srams.
e ground, the angles of
Jag post are 60° and 45° respectively. If the lr‘uﬂht

A flag post stands on the top of a building. From a point on tf
s 8

auafl LTib

elevation of the top and bottom of a f
@

of the flag post is 10 m, find the height of the building

HDID F6T &E

352 .3
cm

@ eeraf_hp Gorargdlear sarerey
T O @T STHMESG ST

-

42,
If the outer radius is 8 cm, find the inner

o @TeL|
5.8, erafle &Caramsslen

52 .4
em’

£

11

|

Volume of a hollow sphere is

radius of the sphere

(® Qemgldler #rrs !
a0 e T 5
ar gyrefl wHmb L dwssbd srams.

100 efeurmiiser SLAdll §
rens sansdliul L g sparre 40 aarm 6
B

Phled

{ation of a set of 100 observations were worked as 40 and

43,
PO 5 ¢
THSSS QaremaTiiig (HiFmed &
By mistake 40 was entered as 30. Calculate the correct mean and

The mean and standard devi
5 respectively

standard deviation
(M LIGEDL G)(HLPSnD 2 L LUBSDS. Gonbas &0 o (HLL@lereugl &TemT
5 oL s Hlepssey srams. (el CapmsesL! | Lwau(h58Is).

44. -
A die is thrown twice. Find the probability that at least one of the two throws comes

up with number 5 (use addition theorem)
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Y :
45. (1) arps Sdswpn Careveuenw Ax’ /%" +9 -Slmig s0&s 2x2—5v+1

2r —1

Slen&Eb?
/60605
ey D . R . : = : :
=) e Garleuwrearg 2ienTECsTaTSSl6 WEH 2 (HenerT BlenemrBs g eiled

2 gTengl. 2 (pemarl LiGd e 2w 8 Gle.f. wpmib Casrueuwder Clorgs
o wirth 11.5 Q&8 2&Gasriienuniar Gorssl yolirlemus Srems.

4.1'3 e 7:(2 + 5

(a) Which rational expression should be subtracted from ~ to get
2% —1

2%2—-5x+17?
OR

(b) A cup is in the form of a hemisphere surmounted by a cylinder. The height of the
cylindrical portion is 8 cm and the total height of the cup is 11.5 am, find the total
surface area of the cup.

9fley - IV/ SECTION - IV
(gluCluagrger : 20) / (Marks : 20)
@MUY : geuGeunm clammeiiaid o drer Grssw(® wrhn efamésaidlBig @
larremais Caibblshss @wm ddamssgrsen almweaidsan. — 2x10=20
Note : Answer both the questions choosing either of the alternatives.

46. (1) 3 Q&.18. yypemer cul L gHler anbwsSHadlmbg 9 G5, Gemewesies b
Lg@ﬁa?mu_la Gshés. uydaalllallprs el dnE QarGEasrdse
auarBgl, sar Bethismer samasl[Hs.

TN VS
(<) AABC -u8idb BC=5 G&.8.,, 2A =45 bppb 258 A-Welimog BC -5
auanpuliul L BHSGST g6 Bemib 4 Q& 8. eren @H&EGLLUE AABC auenys.

(a} Take a point w hich is 9 cm aw ay from the centre of a circle of radius 3 cm, and
draw the two tangents to the circle from that point.

OR

(b) Construct a AABC such that BC=5 am, £A = 45° and the median from A to BC
is 4 cm.

[ SimLliys / Turn over
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47, () y=2<*+x—6 -a7 UL D SUDIbg SBeerl LweTURgS 232 +x~10=0
e SWETUTL L& SrEseyLh.
${6060F)
(&) aumisin’ o Cpri (U usssiaaler aaraflsms LODD BSDHETar
eflevas efleurd Aemeumd <L aueeanmude STl (HeTerg).

Crrl_ (AL Ussshisetan

s ek Z 4 G 8 10 12
craant&ans (1)

ey @y ) 30 60 | 90 | 120 | 150 | 180

Gedsrar euenTLLD eU@IES isaT Apaib
@ gw Cpridl ysssisafear dloaomus srers,
i) T 165-85@ armslu@h Ceri@l yssetisaller eramemtsmaanuds
ST,
(a) Draw the graph of y=2x>+xr—6 and hence solve 232 +x—10=0,

OR

(b)  The following table gives the cost and number of notebooks bought :

No. of note books (x ) ’ 2 141 461 8 161w

Cost @ y)

30 | 60 | 90 | 120 | 150 | 180
|

Draw the graph and hence :
(i) Find the cost of seven note books.

(i) How many note books can be bought for ¥ 165 ?

~00o-



